TOP

2F AC-2
W] OA/Q
v TH LH SH OA Q (Wl A th
[m] | 9 12 [14 |16 W] [[me/h]{[me/h]f [ T ([ /h]| SH |LH| [ ]
2 152.0( 3,499 3,254| 3,312| 3,429 318| 3,181 180[ 936 19|  6.2] 1,141 3.7
A| 531.0|16,629(16,813|16,915|17,017| 1,590|15,427| 900| 4,539 20[  8.5|| 3,968 2.6
15.4[ 284| 260| 260| 260 284 84 5.4 287 10.4
39.6] 914 846] 846] 846] 134] 780 60[ 229 26| 5.8 151 2.0
47.5]1,064] 981 981| 981] 106| 958 60[ 282 21 5.9
81.0(1,773[1,766| 1,766| 1,708 1,773 522 6.4 917 5.3
B[ 292.0| 8,573) 8,573| 8,573| 8,753 901 7,672 510| 2,257 23[ 7.7|| 1,284 1.7
C[292.0]| 8,341]8,341{8,341(8,341| 901 7,440 510| 2,189 23[ 7.5 580 0.8
95.3] 3,635( 3,635| 3,635 3,635] 882| 2,753| 540| 810 67[ 8.5 877 3.3
54.8| 839 869 927]|1,044] 207| 837 90| 246 37|  4.5( 1,219 15.0
101.0{1,188(1,188| 1,188 1,188 1,188 350 3.5 970 8.4
/h
/h
At
SHF
2 5 /h 12,630m°/h A tc
=42,293/(0.33x 12,630)=10.1 A =11,394/(0.33x 12,630)=2.7
46,739|46,526(46,744|47,202| 5,039(42,293| 2,850(12,443 23 11,394
3
SHF At, OA m*/h OA/Q SHF At,
0.89 10.3 2.8
SHF=(TH-LH)/TH Q=SH/(0.33 A t) (m3/h) A t= /(0.33 Q)
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